E7E X3EMT1=FHY T (2024F )
WSS X5 :50mEKE S1#k [BF)

1 INETR REF 185 51.1
2 [ KR EX 51.5
3 HEy K 18T FRAK 52.0
4 KBy AR BE 52.5
5 INE FEE HE 53.1
6 FH RO ER 54.4
7 F& F& BEZM 54.7
8 ING =H A 54.9
9 INETR TH & 55.3
10 = KR iR 55.6
11 INETR F BELER 59.4
12 [ BAR #HX 60.2
13 I RE i 63.6




E7E X3EMT1=FHY T (2024F )
WSS X2 :50mEKE S1#k [ZF)

I fiz A=)V % K4 A4 L
1 INETE —K FLE 52.5
2 I e BA=E 54.0
3 INETE FRE F# 54.7
4 FH AR FIR 55.2
5 PN Ltz &3 55.8
6 7 ha 56.3
7 INE Tk WDHTE 56.7
8 I %6 #A 57.0
9 HREy K HE #HE 59.7
10 o) fEH HHY 61.0
11 INET FK BE 61.7
12 INE TR =g &5 62.5
12 HREy K RE 2 62.5
14 [ ik G 65.7
15 HREy K ZFE UnY 66.3




F70 X380 1a=THYT (20244FFE)
WSS x5 50mEKE S28k [BEF]

1 RER K 5 46.4
2 7rfE —XK $RE 49.7
3 K& MEAT —F 50.9
4 IR £ HE 56.9
5 HREr BHE WD 59.9

WSS XY 50mEKE S2#k [ZF]

1 IR A #hEk 51.4
2 INETE JUE 5F0 52.5
3 IR fH] TK FIF 53.0
4 REZR Bk B=E 54.0
5 INE HER HI4 55.3




F70 X380 1a=THYT (20244FFE)
WSS x5 50mEKE S3#k [BEF]

1 FHR 20 = 48.1
2 INE Ti# BRI 51.7
3 INETR THE 1A 52.4
4 HEr & HO ZEX 52.7
5 INE FE K 53.1
6 REZR A% £ 56.6

WSS XY 50mEKE SRk [ZF]

& f5z
1 RER HA 37 48.6
2 FER KK FiK 49.5

BSHRS x5 :50mEKE S4#k [BEF]

1 A3k it Tl 47.8
2 INE EaRK &3 48.8
3 HEr & ®kik BEA 49.5
4 Sl =] ELRK mtL 49.6

WSS XY 50mEKE S4fk [ZF]

1 A3 S8 RE 48.9
2 IR BX EF 51.1
3 7k & y NI 51.8
4 FEB XE Yk 52.0




F70 X380 1a=THYT (20244FFE)
WSS x5 50mEFE S5 [BEF]

1 Ak BE B8 45.8
2 [ i RE 48.3
3 INE 27 BE 90.1
4 F& KE RE 53.9
5 PN B BE 58.7

WSS XY 50mEKE S5k [&ZF]

1 oL et wEE 53.0
2 K& MR £Z= 56.4

WSES X2 50mEXE S6#k [BF]

1 [ FK 6R 45.3
2 RER EE W 47.4
3 [ EHE XiE 48.3
4 INETR BH k= 49.5
5 = faKk  FOF 51.7
6 R Rl F#H 52.7

WSS X5 50mEKE S6fk [ZF]

JIE 3z

1 gk A % 48.0
2 = KA &4 48.6




F70 X380 1a=THYT (20244FFE)
WSS x5 50mEKE STH [BF]

1 X F5 wE 48.2
2 X ALl = 51.4

b

e

WSS XY 50mExkE STHR [ZF]

JIE 3z
1 IR E¥ Xi& 47 1

WSS X2 50mExXE S8k [BF]

1 7k & a1 jgE=E 43.3
2 =] AE RE 44.6
3 = RAIRF (RS 47.7

WSS X5 50mEKE S8k [&F]

1 K& [RE =R 45.9
2 oii XFH BExE 47.4
3 INE NE] 48.5
4 AE RIS EA 49.0




F70 X380 1a=THYT (20244FFE)
WSS x5 50mEKE SOk [BEF]

(31
1

INETEE EE) R 45.6

WSS X5 50mEKE Sk [&F]

=8
1 Higr & HE <5 43.8

WSS XY 50mExKE S108k [BF]

1 =] EH RBE 43.7
2 Higr & L & 44.0
3 AER &5h X3t 44.7

WSS x20 50mEXE S11#k [BF]

=8
1 Higr & Bl 4 41.4

WSS XY 50mExXE S128k [BF]

1 INET AR SR 37.9
2 HEr & HmO 41.4
3 13 HiR % 41.9
4 INE I BE 42.4
5 P RKAGR 2 42.9
6 INE 0% EX 46.5




